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PART - I : GENERAL ENGLISH

1. . You may go now.
This sentence can be used:
(1) to take permission (2) to make an offer
(3) to give permission (4) to make a request

2.  Ifeel home is a better place to relax.
The above sentence expresses
(1) Agreement (2) Opinion
(3) Prediction (4) Refusal

3. Your friend wishes to meet you but you are engaged with some other work. How do you
express your inability?
(1) By all means (2) T’'m afraid I cannot make it
(3) You may go now (4) Iam not your friend

4. IfI were you, I would help you complete the task.
The above sentence comes under:
(1) making a suggestion (2) making a request
(3) making an offer (4) refusing permission

5. Your uncle gave you permission to use his bike.
How do you express your happiness?

(1) Iam very sorry (2) Your bike is awesome!
(3) Itis very dirty (4) TItisso kind of you

6. He received a proportion of his from selling tamarind seeds.
Choose a suitable word that fits in the blank.
(1) wages (2) income
(3) salary (4) labour

7.  The minister decided to visit the and extend his support.
Choose a suitable hyphenated compound word.

-~ (1) newly-constructed house (2) pebble-strewn road

(3) well-educated people (4) flood-hit villages
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8.  Aperson who is unpleasant and tries to offend people is a/an
(1) extrovert ~ (2) placid
(3) obnoxious (4) suave

9. Idon’t want to give way for unnecessary matters.
Choose the right meaning of the underlined.

(1) happen (2) allow

() think (4) disagree
10. A person with knowledge and reasoning is a/an

(1) expert (2) intellectual

(3) snob (4) literate

11. The judge advised the disputing parties to settle through discussion.
Replace the underlined word with the word that has same meaning.
(1) negotiation (2) rehabilitation
(3) vegetation (4) degradation

12. The greatest work of Satyajit Ray was Apn’s Trilogy.
Replace the underlined word with the word given below with same meaning.

(1) verbatim (2) alma mater

(3) linguafrance (4) magnum opns.
13. Pick out the word that ended with a suffix.

(1) discontent (2) conviction

(3) bicycle - (4) diameter

14. Oh, I call it 2 double-faced behaviour.

What is the underlined word?
(1) acompound adjective (2) aprepositional phrase

(3) anoun (4) an adjective

15. Father’s face lit up with contentment.
Pick out the right antonym of the underlined word.

(1) satisfaction (2) happiness
(4) . commitment

(3) displeasure
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16. Asatakenof _~  , Ray agreed to be the co-founder for Chitrahani.

Choose the correct word that fits the context.

(1) friendliness (2) friend

(3) friendly (4) friendship
17.  You can certainly do it.

The word ‘can’ in the above sentences indicates:

(1) ability (2) inference

(3) compulsion (4) obligation
18. The film industry is expanding in leaps and bounds.

What kind of expression is the underlined?

(1) compound adjective (2) binomial

(3) bilingual (4 compoimd phrase

19. Many great artists paid their tribute to ‘Mahanati’, Savitri.
What is the parts of speech of the underlined word.

(1) Verb , (2) Preposition
(3) Adjective (4) Noun
20. Pick out a word from the options given below that indicates a positive quality.
(1) stubborn (2) affable
(3) slovenly ' (4) sarcastic

21. Iquickly sat down on a rock. My father laughe.d at my plight.
Combine the two sentences using ‘when’.
(1) * When my father laughed, I sat down on a rock.
(2) Iquickly sat down when on a rock, my father laughed.
(3) When I quickly sat down on a rock, my father laughed at my plight.
(4) Isatdown and my father laughed when I am on plight.

22. Choose the alliterative word from the words given below.
(1) tata (2) teemy-weeny
(3) aye-aye : (4) see-saw
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23. Rupa describes her feelings poetically. She has the ability to becomea ____-
Choose a word that best suits the above blank.
(1) artist (2) essayist
(3) poet (4) poetess

24. Neelimasaid, ‘My new job is very interesting’.
Change the sentence into Reported Speech.

(1) Neelima said that her new job was very interesting
(2) Neelima says that her new job was very interesting
(3) Neclima said that my new job is very interesting

(4) Neelima told that her new job is very interesting

25. The poethas learnt the ways of the world.
Change into ‘passive voice’.
(1) The ways of the world has learnt the poet.
(2) The ways are learnt by the poet of the world.

(3) The poet has been learnt by the ways of the world.
(4) The ways of the world have been learnt by the poet.

26. It’s high time he the project.
Choose the right verb to fill in the blank provided.
(1) submitted (2) submits
(3) will submit (4) willhave submitted

27. Ihave lived in Hyderabad for 10 years.

The verb in the sentence is in: o
(1) Simple past tense (2) Present perfect tense
(3) Future tense (4) Past perfect tense

28. Inaddition to his regular studies, Rohan picked up a Diploma course.
Replace the underlined word with a phrase that best suits.

(1) Besides (2) inplace of

(3) aheadof (4) inspite of
29. 1took my horse swimming day or two ago.

Fill the blank with a right article.

(1) one 2) a

(3) the (4) no article

V-General English - 6A
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30. Iwasnottrained enough for the game.

The word ‘enough’ in the sentence acts as:

(1) adverb (2) adjective

(3) noun (4) conjunction
31. Tunderstand your problems; however I can’t help you.

The linker “however’ functions as:

(1) Result (2) Indicating addition

(3) Indicating a similarity (4) Contrasts
32. The time was up but the make up person would not turn up.

Identify the function performed by the modal.

(1) possibility (2) future of the past

(3) compulsion (4) suggestion

33. Napoleon won the French honors. He died at St. Halena.
Which Relative clause can be used to combine the sentences? .
(1) who (2) which (3) that (4) when

34. Come home early. I want to discuss an important issue.
Combine the sentences using ‘if-clause’
| (1) IfIwantto discuss an important issue, I should come home early.
(2) IfIcome home, I shall want to discuss an important issue.
(3) Ifyoucome home early. I shall discuss an important issue.
(4) Ifyouhad come home late, I shall not be able to discuss an important issue.

35. They may feel jealous your success.
Choose the right preposition and fill the blank.
(1) of (2) about
(3) on ‘ A (4) at
36. Which writing activity among the following expresses your emotions?
(1) anadvertisement (2) anessay
(3) anewsreport (4) adiaryentry
37. Inwhich letter among the following, a subject of the topic not necessary?
(1) Letter to the Health Inspector (2) Job-letter
(3) Personal letter (4) Formal letter
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- 38. Signature is a necessary element for-
(1) A formal letter (2) Non-formal letter
(3) Diary Entry (4) Alltheabove
39. When two or more persons mvolve in expression of thoughts, it is:
(1) aconversation (2) a descnptlon
(3) aletter (4) note-making

40. How do we end the script for speech?
(1) Greetings to everybody
(2) Hello everybody!
(3) Thanks for this precious opporrumty
(4) Nice occasion

41. Every poem you read has one important element among the following.
(1) Theme
(2) Punctuation
(3) Structure of grammar
(4) More than two stanzas

42. Pick out the short form of ‘will not’ :

(1) will’nt (2) won’t
(3) wouldn’t (4) shan’t
43. Choose the correct spelling of the word.
(1) govemance (2) governence
(3) govemce (4) govarnance

44, Write the noun form of ‘prefer’ from the following options.
(1) preferable (2) preferred
(3) preference (4) preferation

45. Choose the right word for the following sentence in possessive form.
“The shirt belongs to Charan’. |
(1) Charan’s shirt (2) it's shirt
(3) shirt of Charan (4) he’s shirt

V-General English 8-A
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(46-50) Read the following passage and choose the correct answers to the questions that follow:

Dolphins are regarded as the friendliest creatures in the sea and stories of them helping
drowning sailors have been common since Roman times. The more we learn about dolphins,
the more we realize that their society is more complex than people previously imagined. They
look after other dolphins when they are ill, care for pregnant mothers and protect the weakest

in the community, as we do.

Some scientists have suggested that dolphins have a language but it is much more probable
that they communicate with each other without needing words. Could any of these mammals
be more intelligent than man? Certainly the most common argument in favour of man’s
superiority over them that we can kill them more easily than they can kill us is the least
satisfactory. On the contrary, the more we discover about these remarkable creatures, the less

we appear superior when we destroy them.
46. What is common about Dolphins?
(1) They were found since Roman age
(2) They saved humans
(3) They killed the sailors
(4) They are the largest ones on land

47. According to the passage, the community of dolphins is:
(1) complicated (2) simple
(3) friendly : . (4) big

48. How are dolphins similar to men?
(1) They have two legs like men
(2) They can speak like man
(3) They are caring and compassionate to their community
(4) They are very complex creatures

49. Dolphins communicate with each other

(1) without talking (2) by babble of words

(3) by making friendship (4) by intelligent means
50. Man’s superiority over Dolphins is:

(1) remarkable (2) excellent

(3) extraordinary (4) degrading

V-General English 9-A
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PART - II : MATHEMATICS

51. Ifthe LCM of ‘a’ and 18 is 36 and HCF of ‘a’ and 18 is 2thena=___—
‘@’ $8050 18 © £ 36 58050 ‘a’ Ho6a50 18 © K. 200D A
3) 4 @ 36
8 27
52. log,— +1log, — =
g% 27 g% 8
1) 1 @ 0
2
@ 3 @ -1
53. L.C.Moflog,8, log,16 is
log,8, log,16 © &..5%.
1) 12 ) 8
@) 3 @) 4
54. If2log,x= 6, then the relation between x and y is
2 logyx = 6 @008, X,y © g 5022063
1) x=y @ xX=y
@) =y @ x=y
55. Ifn(A) =12, n(B) = 15, then minimum number of elemehts presentin AU B is
n(d) = 12, n(B) = 15 0ox8, AUB & toddi £33 Sarose dopg
(1) 12 2) 3
(3) 27 4) 15
s6. If Ac B, then (AUB)—(ANB) =

Ac B wond, (AUB)-(4NB)

(1) B-4 (2) 4-B
3) 4 4) B
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57.

If4={x:xeN,xis afactor of 30}, B = {x: x is a prime factor of 30}

then Venn diagram of 4 B is
A={x:xeN,x 38 308 ser0850}, B= {x : x 638 30 § H5 s°Gea0ES0}

wond AUB d Srdowh 3§ Q@sw

B A U B
o [© o |G
2 N :
o () o ()
30 30

58.

1808 BY WEHRY) 000D, wHTVHB PoPoS' TR JTego

Observe the given rectangle, then its area in polynomial function is

x+2

(1) Ax)=x*+5x+14 (2) A(x)=-x*+5x+14
(3) A(x)=x*+5x-14 (4) A(x) =—x*-5x+14

59.

If one zero of a quadratic polynomial 2x*+kx—15 is 3, then the other zero is
2P+kx—15 ©F F0d0 Bk, af FrSgin 3 ©ond Bods ErSgEn

= | 15
w 2 ® 5

@) -5 4 -1

V-Maths 11-A




Question Paper A
Booklet Code

60. If ocand B are zeroes of the polynomial p(x) = x’~5x+6, then the value of (PB)=___
0, B e p(x) = xX’-5x+6 25058 LU (0-B)* =
1 o 2) 1
3) 5 4) 6

- —

61. If one zero of the quadratic polynomial ax*+bx+c is 0, thén the other zero is

@ brtc ©F 5§ 2IvIEE wE drsgin 98 ©anS BobS ErSgEO

(1) ;ag ) %
—b
@ — @ -

62. For which value of ‘k’ will the following pair of linear equations have no solution?

ke B, I JenSK Bod AN TPH JIWELeTo 2SO FES GoEE?

Ixty=1
Qk-1)x + (k~1)y = 2k-1
() 1 2) -1
¢ 2 4) 2
© 63. The age of Lakshmi is one third the age of her father. If the present age of her father is
45 years, then the age of Lakshmi after 18 yearsis___ years.

1
©§) S0 e o0& S0y’ 3 $0& GR)B. P50 B Soid S0y 45 HoSE)oren

wond, 18 BoS&ore $ovd e 30003 DoSdyoren.
(1 21 2 30
(3) 63 (4) 33

64. The number of solutions to the pair of equations 11x-7y = 6 and 4x+9y = § is
11x-Ty = 6 $80%0 4x+9y =8 SNEGeTe 28 od FEde dopg
(1) 1 2 0
3) 3 (4) Infinite (wSo0&0)

V-Maths 12-A
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65. If the sum of the squares of two consecutive odd numbers is 74, then the smaller

number is

Bo&y %D B Sopge Sore Ingo 74 vond, T8S® D) dopg
M 1 | ) 5

3 3 @ 7

66. If Sx~kx+11 = 0 has a root x = 3,then k=
SxP—kxt11 =0 528808 8 Srodn x=3 vond, k=

—

16 17
(1) 3 2) N
56
3) 3 4) 15

67. If Vx=v2x—1,thenx=

Jr=2x-1 wond, x= LoF art
1 -1 2 o0
3) 2 @
68. Ifa=2,d=8,5,=90, thenn
a=2,d=8,5 =90 ®o0s, n=
1 3 2 8
3) 7 4 6
69. The n™ term of an A.P. is 6n+2, then sum of first four terms of that A.P.is
0.8 WoEEHS® n S HEB0 6nt2 Yo ¥ FRS* 0K T Hore IwgSo
(1) 60 (2) 68
(3) 54 4) o4

70. Ifa,+a, of a GP. is 64, then the common ratio is

af HREES* 8, + 8,003 64 ®onl, FErSg AN
1 8 2 32 (3) 4 4) 2

V-Maths 13-A
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95 3
71. PO R T ==
In the GP. 229 G
555
Es Z: ga &R@éé‘ a =
5
3 5
72. How many cubic metres of earth must be dug to make a well 14 m. deep and 4 m. in
diameter?
1) 196m’ (2) 216m?
(3) 156m’ (4) 176 m>
14 o. &%, 4 do. TgIS0A 2.8 D 6353 53:) 508 8583700 J0E?
(1) 196 &° (2) 21653
(3) 156 &° 4) 176 &°
73. A solid metallic cylinder of base radius 3 cm and height 5 cm is melted to make ‘»’ solid
cones of height 1 cm and base radius 1 mm. Find the value of ‘n’.
3 0.0, Frgrgo, 520.0. Ko DS FQ) E8A0D 1 0.0, &, 1 Do.2. Erargrgo
e DSFogpoYenne ﬁ‘?b.‘f)%oooé, 3633 FogpoHo Sopg Jodk?
1) 1350 @) 13500
(3) 135 ‘ (4) 3500
74. Find the ratio of volume and surface area of a sphere whose radius is 6 cm.
6 0.2, TgFgSnne A¥dn B8, DIB0Iresn, GHddL JTergo G
(1) 2:3 2) 3:2 : (3)--2:1 @ 1:2
75. Length, breadth and height of a cuboid are 5 cm, 4 cm and 4 cm respectively. Then length

of its diagonal is cm.
w§ BE RS0 A0k, FEY, D) SO J&d G 5 0.2, 4 0.2, 9B

4 20.20., ®od G50 FEJ 0.40,
(1) 13° 2) 57

® Vi3 @ 57

V-Maths 14-A
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76. The distance between (cos6, sinf) and (sinf, —cos0) is
(cosB, sinB) So8asn (sin, —o0s0) © Sy &rdo
1) 3 @ 2 3) 1 @ 0
77. The vertices of a triangle are A (2, 2), B (-4, —4), C (5, -8). Then the length of median
through C is
A (2,2), B (4,4),C (5,-8) oo (@s0z doren. C oo & 85888 6D
M Jes @ 117 3) 85 @ Vi3
78. The area of a triangle formed by (g, a), (a+1, atl), (at+2, a) is
(a, a), (at], atl), (a+2, a) ©F 6k Behz JT0g0 _
1M 1 @ V2 3 @ 4) 2a
79. The points (k, 2-2 k), (1-k, 2 k) and (—4—*, 6-2 k) are collinear then k =
1 ) —=orl
(D —lor2 (2) -5 or
1
3) -lorl 4) -lor =3
Dodoyen (k, 2-2 k), (1-k, 2 k) So8csw (—4—k, 6-2 k) oo SoPcSrBS k=_
. 2) -~ &1
(D —léﬁa'z. ) -5 8w
1
3) -18c 1 4 -18o -7
80. In APQOR, 4, B and C are midpoints of OR, PR and PQ respectively. If the area of
APQR is 14.4 cmz, then the area of AABC is cm?.
POR 8202506° 4, B 508050 Ceo S&3m OR, PR So8asn PO © ¢y Dotdoyen.
APQR 37og0 14.4 0.2 wond, A4BC3rogo  se bn?
(1) 7.2 (2) 3.6 3) 4.8 4) 1.6

V-Maths 15-A
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81. Inthe figure AB = cm.
D30 Hod 4B = 0.0,
c
o
60°
A D B
(1 6 (2 18
(3) 24 (4) 30

82. In AABC,XY//BC,AX :XB=2:1,then AAXY: AABC=_
AABCS* XY /I BC,AX: XB =2:1 won$, AAXY: AABC=
(1) 94 2 L9
(3) 2:3 (4) 49

83. In the given figure, DE // BC and AD : DB = 5:4, then i?:ﬁg =

ADEF _

ad H&oe* DE // BC $0as0 AD : DB =5:4, @oxnd
ACFB

81 S
(1) 55- (2) 9

5 2
® 7 4) 21

V-Maths 16-A
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84. In a wall clock, length of minutes hand is 7 cm. Then find the area covered by it in

10 minutes of time.

77
(1) —3—cm2 (2) 154 cm?
154
3) —em 4) 77 cm’

a8 H'¢ KBS S0 ddre Swey Fd 7 250.50. ©ond ©8 10 dDTres* eEoB

Qa‘ogo

77
@) 5 200.02 2) 1547%0.57
154
3) —3—?00.3»2 @) 77 %0.50?
85. A tangent PQ ata point ‘P’ ofa ciréle of radius 5 cm. meets a line through the centre O at
a point Q so that OQ = 12 cm, then PQ = cm.
0 Zogormtie SyEsuD P’ Do Sod AbS HgPe PQ HETEIEID 5 oD,
$58a50 O S008 Q 585 AdS dp >8H 0Q =12 200.20. ®od PQ= 200.20.
1 79 @ 119
(3) 169 | @4 13
86. PQ is a chord of a circle. The tangent XR drawn at X meets PQ at R when produced.
IfXR =12 cm, PQ=xcm, QR = (x-2) cm, then x = cm.
& S)E08 PQ e.§ &g do X Do) ¢ ARV 2o XR, PQ % r&nodm R I
£9%358. XR=12%0.0.,PQ= x20.5., QR = (x-2) 0.2, ®O0S X = 0.5,
(1) 6 @ 7
(3) 10 4) 14
17-A
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87. If o = in?39°+tan” 51°~ =770 o
cosec 39° = p, then the value of E&TEF +sin?39°+tan 51 sin? 51°.secz39°
(]

is
Cosec 39° = p wons 1 ) 2510 _______1____——— QeNI
T —— ° 51°= ' 27Q©
00860251°+s1n 39°+tan sin2 51°.sec 39

—_—

(1) Pz—-l (2) P2 -

3) 1-p? @ [1_p2 -

88. IfcosecB + cosec?0 = 1 then the value of (cot'?0 — 3cot'%9 + 3cot®0 — cot®0) is

cosec + cosec’d = 1 wons (cot'2 — 3cot!?9 + 3cot — cot’6) Dews

() -1 @ 1 . B3) 0 4 2
89. Ifsin21°=%,thense021°—sin69°is '
. X
sin 21° = ; ®oS sec 21° —sin 69° =
I e
x.\/y?‘—x2 x.qx% =y
x2 x2
3 (4)
3) y'ﬁz_xz . | y_m
_ 1 s
impli lue of | ——— | 1s
90. vThe simplified value o ( sect9+tan9j
2
1 5 arlygoh
sec@+tan
(1) sec6 + tanB (2) sin6. cosp
1—cosé 1-sin
3) —— (4) -—Sino
1+cosé 1+sing
— o
18-A
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91. If two poles of heights x m. and y m. subtend angles of 30° and 60° respectively at the
centre of the line joining their feet, then x - y is

X D. 58050 y M. &Ko Body Yogsnen T8 FTes Eend Bp HEgR0LY 5§
S&Hm 30°, 60° Brerrerdo Eﬁ"@,éﬁgwé, xX:y=

(1) 3:1 2 1:3
(3) 1:2 4 2:1
92. The length of the string of a kite flying at 50 m. above the ground with the elevation of
60° is m.
Zordod 50 . AeS* DO 2.8 mdDHLo B, &do 60° {;‘ﬁgg?ea‘;)) BAS)dydo
o800 8 0.
(1) 57.73 (2) 1732
(3) 4227 4) 732

93. Two dice are thrown together. What is the probability that the sum of the number on the
two faces is divided by 4 or 6?

Vo IR 280 FOoNSIPE I8 Boddy SwpdneP Iy Bode InESw
4 Bo 68 rhowatdesd Joardgd Jod?

14 7
Y] 35 (2) 35

7 8
3) 18 4) T

94. Find the probability that a leap year selected at random will have 53 sundays?
28 9 HoS&\BoS® 53 whaTen S8 Dogrdgd Jod?

1 7
1) 7 Oy

366
95. If we toss a coin 2019 times, then the probability of getting at least one head is

.8 S@Sndo 2019 & QEI R, Edd0 28 aﬁ"&’n&a’aa Bogrsgd

: 2
¢ @ =

92019

(1) 2019 ) 52019 _;
22019_1 22018
(3) o 4) 2019

V-Maths | 19-A
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96. If the probability of an event ‘E’ js 60%, then what is the probability of “not event E?
LS ECB:D§Zr Ef)oarisgé 60% ©00$ “E 560" @0k dodad Bwg), Hoerrdgd Qod?

3 2
(1) 5 (2) 3
4 : 1
@ 3 @ 3
97. Range of first 10 whole numbers is
3088 10 Frgose Ty
1 9 2) 10
3) 0 | 4 1
98. Mean of first ‘»n’ natural numbers is
08¢ ‘N’ Sdres Qopge difw
n(n+1) n(n-1)
n = @ =3
n+l ' n—1

2 .

99. Average of 20 numbers is 17. If 3 is added to each then new mean is

20 Hopge difen 17. @8 Sopgss 3 ED2XL008 BN S8 dopge Bt

(1) 77 2) 40
(3) 37 4) 20
100. The mean of 30 students is 42. Among them three got zero marks then mean of remaining
students
30 $08 dorgipe Brikn 42 OO AnROE W) Srdyer SYID. WAOS oo
e
(1) 46.67 (2) 34.05
(3) 44.5 | (4) 48.25
)
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PART - III : SOCIAL STUDIES

101. “Duns’ in the Himalayas are present in between these ranges:
(1) Himadri, Himachal (2) Trans Himalayas, Himadri
(3) Trans Himalayas, Himachal (4) Himachal, Sivaliks
TIroSrostd ‘dra’en & SHide $¢gst Ganow
(1) &TErB, TSesS (2) ¥R TrSrochinen, T3 B
(B) &S TErocHine, SErSS @) ErSS, 30

102. This is not the tributary of the river Ganga.

(1) Ravi (2) Jhelum (3) Beas (4) Luni
28 Komrdds &I38 5o
(1) o (2) 2Boo 3B) &HASrS 4) o
103. Observe the given table and choose the correct statement
Country Monthly income of citizens in 2001 (in Rs.)
| II I 1\Y \% Average
A 9,500 10,500 9,800 | 10,000 | 10,200 10,000
B 500 500 500 500 48,000 10,000

(1) Both ‘A & B’ have equitable distribution
(2) ‘A’ has more equitable distribution
(3) ‘B’ has more equitable distribution
(4) None of the above
ai):):é 6§§E&J 503900, HOGDD TrgPgo $80t05%.

ALy oY) 2001 JH0S38)850e* e IuHd srraosn (Errobes’)
I 11 111 IV Vv DTRB/ D
A 9,500 | 10,500 9,800 | 10,000 | 10,200 10,000
B 500 500 500 500 48,000 10,000

(1) ‘A’ %0800 ‘B’ Bodr d5r$308 doded §9h &d)d.
2) ‘A’ 0¥ d5rS Hoded E0 &HB
(3) ‘B’ 0HE J5:E Hoded 08 &¥)d

4) 2 A 57
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104. “Out of 1000 live children born, the number of children who die within one year’ is

termed as
(1) Literacy Rate (2) Gross Birth Rate
(3) Net Birth Rate (4) Infant Mortality Rate

DRSO HPI ©H8 VowgHod Dee* vosHso FY wihgHss Jo8B0d SRR

DN
80cHT Sopg'd &dgomr ReFK.

(1) wEodge” Sopg (2) #og wdvre dopg
(B) 88 =28 Sopg (4) 3D Sobere JoPg
105. A “Flower Cultivator’ belongs to this sector of economy
' (1) Service sector (2) Organised sector
(3) Industrial sector (4) Agricultural sector
o i’ Dok w8 Sg8 & 698 Comds BodSTE
(1) Do orfdw (2) SgSRES Sordnd
() FBIFDE SoriSw (4) SgSaroSo¥ Sorfsn

106. ‘The agricultural sector continues to be the largest employer even now’. The reason is
(1) Most of the people didn’t like the industrial sector
(2) Most of the people didn’t like the service sector
(3) More earning opportunities are there in the agricultural sector
(4) No enough jobs were created in the industrial and service sector

“@ye38 Sgdrad B wrorom God” B8 Ko s°8mo
(1) wrerdrob8 FBFE oo AgoBEXFSKo

(2) wersobs Dardoro agoBEFSko

(3) SgSarchdorios” & HodETSsTen woddo

(4) oFNE, DIdoros® 8ASod 4T Ed olwdEFSdo

107. “The Western disturbances’ come from this water body.
(1) The Bay of Bengal (2) The Mediterranean Sea

(3) The Arabian Sea (4) The Pacific Ocean

DS DF'eren’ & woeTidn Bo08 SIrom.
(1) womregrdan (2) Soggeoe d0ESas
(3) wdHosr JHSoES0 (4) 522§ S5+ 520850
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108. The ‘Loo’ winds are of this type.
(1) hot winds (2) cool winds
(3) dry and hot winds (4) dry and cool winds
‘o’ D370 & 5508 TS
(1) 38 SSen (2) 3o dSen
(B) & So0050 & dSTren (4) & 088w IS HSTren

109. Emerging into this Valley, the Brahmaputra is joined by these two tributaries. The ‘Dibang
and the ‘Lohit’.
(1) Kashmir Valley (2) Araku Valley
(3) Assom Valley (4) Rishi Valley
& SODNSE SYIDYE B0f, SIS ©F Bodd GISSen I ES* Eeoyow.
(1) =3 &' (2) w88 S'c%H (3) oo S*oH (4) B s*c%
110. The source of the river ‘Godavari’ is
(1) Thriambak (2) Mahabalipur
(3) Dhowaleswaram (4) Anthervedi
HorSo 88 wsygosn
(1) Egow¥dm (2) H05%00H8S30
(B) &5958S50 (4) @o8dd
111. The idea of equality is used with reference to
(1) People (2) Race (3) Religion (4) Caste
& o) BYNS* oHBR DSrSEco’ BI) IS GIHRTAJS0.
(1) Sz (2) =& (3) Hoss» 4) Sosn
112. Present Fertility Rate in India is .
T ESBIoS® DS PO Béw
(1) 1.9 2) 2.7 (3) 56 4 34
113. “The Pratapgad Fort’ was built by this king
(1) Maha Rana Pratap (2) Pratap Sinh Rana
(3) Chatrapathi Sivaji (4) Aurangazeb
PEDHE L & Trerd JBPTEI8
(1) Sostorer P2 (2) a5 205 ooee

() PS8 3 (4)

T SoKBEen
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114. ‘The colonial power in India developed the port cities’ - The reason was
(1) they like India and Indians
(2) they wish to develop the cities and towns in India
(3) we, the Indian people, requested them to develop
(4) to better exploit the natural resources of India
SodToen rEEtios'd 39 symro wpsyg Br’ - B8 Ko 5°8ep i
(1) &% ESBT), erESasnes QYITE
(2) 8BS SHTro, dyerod ©)I)R Boirod 6 eSSl
() =o8TY BroBd D50 6D WHH)Y BohBd BegRowTHN
(4) rESBEY dira, SEHO% 0008 EOFGLErdS

115. This is not the reason for the expansion of the urban population in India
(1) mechanisation of Agriculture
(2) natural increase
(3) declaration of rural areas as urban areas
(4) migration of people from rural to urban areas
T ESBIoS* H&e 2T IJT0EH 2b TS0 5D
(1) Sgdarcs csro@Ese
(2) dFrz DGO :
(3) (T (Fosroi HYm Fosreur pEBowdo
(4) T Fosro K08 S Fogod S0l IHhdo

116. Unskilled and semiskilled workers are mostly migrating to these nations.
(1) Saudi Arabia and United Arab Emirates
(2) Canada and United Kingdom
(3) United States of America and United Kingdom
(4) United States of America and Australia
Q;’p)easoéz), Fod 3Jeago &) HTE 8, & BTk SOIN T
(1) &6 eBDSr S0 B503BE S A3
(2) BS@ 398050 0503886 Bofids
(3) cnIBE RE) €D YAOF $08050 SVIBE 8oRESH
4) 503BE &) 6D eOE S0 o d>
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117.

This is the most common way of increasing production from land
(1) Organic farming

(2) Continuous supply of water for irrigation

(3) Usage of more pesticides

(4) Multiple cropping

Erdo S0 GBI DoSETE 98 V8508 TGS E8

(1) oo SgSarasosio (2) dBoSE FKDE Jv8Ho
(3) ©88 HSHZote TEko (4) =2dv¢ Sobe A
118 . Observe the following table and choose the incorrect statement.
Type of farmers Size of plots Percentage of Percentage of
farmers cultivated area

Small farmers Less than 2 ha 87% 48%
Medium and
large farmers More than 2 ha 13% 52%

(1) Small farmers are large in number

(2) Medium farmers are having more than 2 hectares of land

(3) Small farmers are having more percentage of cultivated area
(4) Large farmers are small in number

& 808 HEIE 5830 38T FrgpgRo KogowrSw.

BoS® §5ren & QYo Séo TS5 T TSI
&) Seoen 2730 08 $59 % 87% 48%
S0GgS88158, 2737 $oB 5 S 13% 52%

g Ben

(1) D& Beben DE Sopges® twamsHd

(2) SoggssKd Beoen 2 i K08 JES & O A0 &
(3) 0% Bdoen WBETEo APV EOA ST

(4) g ddoen 59,3 Jopge’ I

119.

This played a crucial role in the ‘Arab Spring’.

(1) Liberty (2) Media (3) Race (4) Education
‘WO $5H5080'S* B8RS FE P03,

(1) 'fo‘szﬁ:) 2) BFE Srggsoren

3) =6 4) 2
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120. In view of the ‘Globalisation’ find out the incorrect statement.
(1)  China provides the advantage of being a cheap manufacturing location
(2) Mexico is useful for its closeness to the markets in the Asia
(3) India has educated English speaking youth
(4) Indian educated youth can provide customer care services
BDoNEED 'S EyRo0cowHBR, H85 FggR0 KGoTISN.
(1) 8593 pEys* &8 Bodgie Bfomr BT GIRrHSEE08
(2) SRErS'D ST L% SHST Gobbo S0 DY e GIRTHHEE00
(B) rESBYSD DTGHRDS, BofSNS* SrrdrOAS ciwSER EOAcSND
(4) TESTEY JergSodRoN NS EYS06 6 DI @odowKedd

121. This is a nutri-cereal
(1) Rice
(3) Andu Korralu
28 o.f ‘FRE g0’
(1) S8
'(3) wodh F¥ew

(2) Wheat
(4) Bothl &2

(2) S
(4) 1506050 2

122. These help the growth and regeneration of body tissues.

(1) Carbohydrates (2) Proteins
(3) Minerals (4) All the above

29 TEEE K GoB, Snre ;’g)éd)gdeaéo &rdo Wrow.
(2) Srodgyden

(1) D08 doge
@) &

(3) DL
‘Environment’s ability to absorb and render harmless waste and pollution. This is

123.
called as
(2) The source function

(1) The Absorption
(3) The environment function (4) The sink function
HorgSdeasin DG sEgEre TLo Dfotiw g Sy 53@1':'5&) W AL,

38 EOA &0B. B e 2e08.
(2) dogsdm SShe v8HT 98

(1) &ae
(3) dogSe D8 4) 65 T% 25
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124. Identify the correct match
(1) Rachel Carson - Arab spring (2) Pumpsets - Recharge of Ground water
(3) Endosulfan - Kasargod, Kerala (4) Chipko - Tamilnadu
R8G0S 2E HdBowoSm.

(1) 036 ¢S - w85 SBodo (2) Soydiyen - FridEeren BOABEL
(3) BoGRer)S - 556mE, 66 4) a9 - Sdd
125. “We will drown but we will not move” - These are the words of
(1) Digvijay Singh (2) Rani Kajol
(3) Bava Mahaliya (4) Raja Panto
“osn S0AFe0 5 986 K0d Ebwo” - & Srben vFHT
(1) &Agzdl vofi (2) oB S
3) oo SHFOST 4) oz Hod
126. As a punishment for refusing to handover the port of Danzing to Germany, Hitler invaded
(1) Poland (2) Austria
(3) France (4) Warsaw
@roZofl L4095 28)08 vdfoda s DTEB0RK0KE IEM L BIY eEoT D
(1) &eod 2) s Er
G) @ 4) ooy
127. The active person in the formation of the league of Nations was
(1) Woodrow Wilson (2) Roosevelt
(3) Churchill (4) Cameroon
‘T8 S8 JTYS® KB PHIE
(1) @ dee (2) &~&3¢
3) =S 4) sSErS
128. ‘Peace and Bread’ were the demands of-
(1) German Women (2) German Jews
(3) Russian Women (4) Polish Women
‘T08 0050 5T ©%8d 20 ddrody
(1) =26S Qe (2) =8)S cSrden
(3) ©xgS C.gw (4) 207 @e:o
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129,

“I cannot be the only one who is satiated when others are hungry”- These were the

words of -

(1) Volga (2) Kasturi Bai
(3) Joan of Arc. (4) Marfa Vasileva
“WADS Bollr BEDS' GoB Ik 28, TS §6HYA0NEBR” - & Sréren V)T
(1) eep Q) Sézberon
(3) =S P uf) 4) Sroy TRBT

130.

“This country escaped from the impact of the great depression.
(1) Germany  (2) UK (3) USSR
8BS Srodigo B0g, Barso Sod & Do ENYOHLDB.
(1) =6 (2) ow3 () 0253565 (4) o520.98.0

4) USA

131.

(3) George Livingston

The famous Satire ‘Animal Farm’ was written by

(1) George Orwell (2) George, the great
(4) George Bernard Shaw

Dgrgs Sgoilg S5S ‘TrHS IS’ S0
(1) =§ 636 @ =5 6@s
(3) =°§ ODoAYS (4) =gBog &

132.

The great depression 1929 is connected to the following.

(1) adecline in demand and rise in prices (2) arise in prices and demand

(3) adecline in demand and fall in prices (4) arise in demand and decline in prices
1929 &5 &g Sromgds $020050D38

(1) &Srobe’ dhde 208050 $8e° DEHDE®

(2) S8en, BSrod Bo3es* R DGR

(3) &S5ro&e’ sfdo 308050 GEeetSh dhde

(4) B370&S’ 26680 $00050 e’ Shde

133.

‘Gestapo’ means
(1) Russian Criminal Police

(3) French Storm Troopers
AT odm

(1) Sarg IS FOS

() @osS T8 LG

(2) German Secret State Police
(4) Italian Secret Protection Squad

@) 2635 HBSE 5 205

28-A

V-Social Studies

I



Question Paper A
Booklet Code

134. The founder of the Modery China was

(;) gh?“'EN-TgA (2) SUNYATSEN

(3) Chiang Kaishek (4) Mao Zedong

BT B VT

() Fa5g Q) ¥5REDS (3) 2orof3hE (4) 05 B@ol
135. “The Long March’ was related to these

‘(1) Nazis (2) Fascists (3) Gestapo (4) Guomidang

 ©rofl 3r§) DB HowohodSs

(1) ~den (2) Foxeo 3) ay (4) HIr0moh
136. The ‘Mekong Delta’ is in this country

(1) France (2) Vietnam (3) Libya (4) Myanmar

D5ToA BeT & BfosS® Lodkd

(1) & 2) doeno (3) oDasr @) SocHams
137. Northern Nigeria is dominated by this tribe.

(1) Igbo (2) Yoruba

(3) Hausa-Fulani (4) Bothl &2

w88 nﬁ_éﬁoﬁ)‘ & 8830 &9@5&5806‘ 6(‘6&‘&.

(1) =i} . (2) Sodoer

(3) TP (4) 1 S08050 2
138. This Political party in Britain was more willing to help India attain freedom.

(1) The conservative party (2) The labour party

(3) The Republican party (4) The Democratic party

QOISR & o8> PESBESNIK FgSoggo oNSETIE wrer Fodreom G

(1) 58585 28 (2) Bab g |

(3) 65985 G (. Dt ok

139, The ‘Tebhaga’ movement was related to this
(1) Bengal (2) Bihar
(3) Telangana (4) Tamilnadu
‘B GgSo0 & cr@z)é $022080038
(1) Borrs (2) &F6 (3) Beorrer 4) S0dTd
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140. “The dual polity” in the Indian constitution resembles this constitution.

(1) The Japan constitution (2) The American constitution

(3) The USSR constitution (4) The Hungary constitution

T88 Targorost ‘550(55 ooy Soig o’ & 8F orargom) IO €& 0ex008.
(1) =28 orergoiio (2) ©08s® oergofio

(3) 50.%.05.65, orargolfo (4) &roiib oeergonio

141. To overcome the problem of illiteracy, the election commission came up with a novel
idea in first general elections. That was

(1) Electronic Voting Machine (2) Having symbols on ballot paper

(3) Bothl&2 (4) Ink Mark & EVM

QEETSgE DD ©HKWEE AN H0700 2.8 JSrd) S BIS Snodosd SDod.
A

(1) QoFRE L80A oakd

(2) wrgol DI FR) HRe GdHRBrAotEo
(3) 150805 2

@) 208 H&, 2.9.005

142. This was not the member of the SRC.

(1) Fazl Ali (2) K.M. Panikkar
(3) Hridaynath Kunzru (4) Nehru

SRC &* dghgen ST |

(1) HzS o@d 2) 3.2%. 5886
(3) FmsSHTE Ko @) 3w

143. The first war between India and Pakistan was in
(T ESBES50, FEFSO S0y B0éII0EE aogo 220A8 IR ALY

(1) 1948 (2) 1952 (3) 1962 @ 1972
144. ‘Garibi Hatao’ was the popular slogan of

(1) Nehru (2) Gandhj

(3) Indira Gandhi (4) Lalbahadur Sastry

‘UEH TrerST et TG0 268 HooBoNIB. ,

(1) g @) mos

(3) =odTmrod (4) oSwussrs o
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145. 1
The first non congress prime minister of India was

1 .
( 2 ghandraSekhar (2) DeveGowda (3) CharanSingh (4) Morarji Desai
TEEBTIE YIS soRHES BEsSo@

(1) Sodps (2) B3Ts (3) $ESwoR 4) Boo§dTo®

146. Icllentify t_he article that is related to the President’s rule.
(1) Article 370 (2) Article 320 (3) Article 356 (4) Article 368

T B8 Fod H0205008 $HESS KgoHos.
(1) 88 370 (2) wg&s 320 (3) ©g¥S 356 (4) 58S 368

147. The constitutional amendments passed by the Government of Sri P.V. Narasimha Rao were
g 0.9, SE1V0FIT Y MO Heheiod eIrdosdS orergoll S38epen
(1) 73,74 (2) 42,43 (3) 18,19 - (4) 24,25

148. “We have emerged from this war the most powerful nation in the world...” These words
were said by

(1) Harry Truman (2) Netaji (3) Atlee (4) Bismarck
“ofngo Sod Sodo BhoWoS ey $8508305 BFormr edEDowro’.
(1) %8 oS 2) Je2 (3) o8 (4) ax5),

149. The numbe:r of countries that have membership in the UNO at present
DEgoragdB8S” PXRS HghTe Jopg
(1) 54 (2) 195 3 173 4) 193

150. The reason behind the refusal of American men to participate in the Vietnam war was
(1) they thought that the war was unjustice
(2) they were un-patriotic
(3) they love Vietnam

(4) they were corrupted
@3065"3'(5303 ~eReo 8 B8 20D diwgogs‘ 5"@5'3 DH{S0S® 8EY) BosE A8 Ko 580

(1) ar& asogo ©ToNRSE 0TS
(2) & DR 57

(3) T daDeo P

(4) & eotsfrodoen

PROROROZOX
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